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Find This Tree 

Can you correctly match each tree with its location? All these SIX trees are to be found in the village in one 
of the public open spaces. Can you identify which tree goes here?  

1) Vision Park 
2) School Hill 
3) Homefield Park 
4) The Green 
5) The Recreation Ground (The Rec) 
6) Long Meadow (off Park Lane) 

 

Maybe you recognise all of them right away, but maybe you will need to go out to check that you have the 
right answers. 

The SIX pictures show four common tree species: oak, London plane, sycamore and horse chestnut. We are 
very lucky to have so many large trees in the village. 

 

 

 

 

Tree A is on _____________________________________________ 

 

 

 

Tree A 

 

 

 

Tree B is on ______________________________________________ 

 

 

 

Tree B 
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Tree C is in ______________________________________________ 

 

 

 

 

Tree C 

 

Tree D is in ______________________________________________ 

 

 

 

Tree D 

 

 

Tree E is in ______________________________________________ 

 

 

Tree E 

 

 

 

Tree F is in ______________________________________________ 

 

 

Tree F 


